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Learner Resource 2.1 – The Contextualised Social Learning Theory Paragraphs
Task 1 – Using the following key terms explain SLT applied to crime: Nurture, nature, internalised, direct reinforcement, vicarious reinforcement, mental representation, observe, rewards, vicarious punishment, consequences, genes, imitated

In the case of criminal/anti-social behaviour a child may                              a criminal act which creates a                                         in their mind, because they have seen this particular behaviour they are more likely to copy or imitate the act. The likelihood of the criminality being                          is further increased by the process of                                              , these are any                 that the observer might witness. 

For example, a role model could be rewarded for their criminality; financially or through an increased status. The observation of such                                         are much more likely to lead to criminality being imitated compared to a situation where                                              may occur; this may be witnessing a criminal being arrested or sent to prison.

 After observation has occurred the person may have                               the criminal act, e.g. knowing how to pick-pocket. Once this has happened the observer may decide to carry out the act themselves. If they are successful in the criminal act and are not caught, then they will receive
                                            through the gaining of the item they have stolen. The consequences of this direct experience determine whether criminality will continue.

The theory however can be criticised for ignoring the role of                               and focusing too much on                             ; not every person who observes criminal behaviour will be a criminal themselves. Furthermore, supporters of SLT would state that the offspring of criminals become criminals themselves because of what they are exposed to, however it is possible that the reason for criminality may be due to the biology that they share such as their                              or brain dysfunctions.
Task 2 - YOUR SLT PARAGRAPH, Use the key terms to explain the specific crime of your choice, eg such as speeding or theft.
(1)





(5)





(4)





(3)





(2)





(8)





(7)





(6)





(10)





(9)





(11)





(12)





OCR Resources: the small print�OCR’s resources are provided to support the teaching of OCR qualifications, but in no way constitute an endorsed teaching method that is required by the Board, and the decision to use them lies with the individual teacher.   Whilst every effort is made to ensure the accuracy of the content, OCR cannot be held responsible for any errors or omissions within these resources. �© OCR 2018 - This resource may be freely copied and distributed, as long as the OCR logo and this message remain intact and OCR is acknowledged as the originator of this work.


OCR acknowledges the use of the following content: n/a


Please get in touch if you want to discuss the accessibility of resources we offer to support delivery of our qualifications: � HYPERLINK "mailto:resources.feedback@ocr.org.uk" �resources.feedback@ocr.org.uk�








Version 1
1
© OCR 2018

Delivery Guide – Criminal Psychology

